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QUESTION 1

Which of the following fields represents the granular licensable version of the software and is used to calculate the
technology risk? 

A. Lifecyle Model 

B. Ignore Technical Risk 

C. Lifecycle Release 

D. Lifecycle Full Version 

Correct Answer: D 

Reference: https://docs.servicenow.com/bundle/quebec-it-business-management/page/product/ application-portfolio-
management/task/associate-business-service-to-software-model.html 

 

QUESTION 2

What links the application service to the underlying technologies? 

A. Application Management Model 

B. Inventory Management 

C. Application Service Software Model 

D. Application Category 

Correct Answer: D 

 

QUESTION 3

APM interfaces with Software Asset Management to pull this application data: (Choose three.) 

A. Product Classification 

B. Software Model Data 

C. Hardware Asset Lifecycle 

D. Lifecycle Data 

E. Vendor Procurement 

Correct Answer: ACD 
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QUESTION 4

The Retail Exchange Company has all of their applications in a single system of record and ownership has been
established. Which level of the maturity model are they in right now? 

A. Level 1: Applications Under Management 

B. Level 2: Basic Rationalization 

C. Level 3: Advanced Rationalization 

D. Level 4: Continuously Optimized Portfolio 

Correct Answer: A 

 

QUESTION 5

Which attributes can be used to categorize business applications? (Choose four.) 

A. Application Score 

B. Application Name 

C. Application Family 

D. Portfolio 

E. Category 

F. Business Unit 

Correct Answer: BCDE 
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